>
N & 0l & AF S & M M
20208 = =3 3 3 Gt AIESE3H XA
2N SEAIA
g o2 HEXe
©@He: St=Z AL (St ALSSE3IH) (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-F Hl D2
=T ALY A 3,393,094 3,393,094 0
St==2| HEXel 3,393,094 3,393,094 0
St=Z A (ot AL SE 3 3,393,094 3,393,094 0
330t B2 1,957,410 377,410 1,580,000
401 Al HIZ 2018 1,940,000 360,000 1,580,000
01 A& HI 1,940,000 360,000 1,580,000
OB Eot=HMlAlE LB E Y 40,000 0 40,000
Odots22 &4 2 Z & 130,000,000 130,000 60,000 70,000
OWetZ IIFEZ2=XAE EFI| A 550,000 0 550,000
Oldz SZIZANE NSEF3A 670,000 0 670,000
OZE An2at=HMelAE 222 A 80,000 0 80,000
OEIBot=HMelAlE HELH A 180,000 0 180,000
OuiZ SteHMeld W =20l A
Z & 190,000,000 190,000 200,000 A 10,000
ol g1yl 35,684 1,615,684 A 1,580,000
1 olglgl 35,684 1,615,684 A 1,580,000
1 &etolglsl 35,684 1,615,684 A 1,580,000
Ogetolidltl Z & 35,684,000 35,684 1,615,684 A 1,580,000




